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Variant 1

I. Translate the following test into Ukrainian and put questions to the underlined sentence.
The army employs various individual weapons to provide light firepower at short ranges. The most
common weapons used by the army are the rifles, carbines, pistols. Soldiers are also equipped with
various hand grenades, such as fragmentation grenade and smoke grenade. Many units are supplemented
with a variety of specialized weapons, including Squad Automatic Weapon, to provide suppressive fire at
the fire-team level. Indirect fire is provided by the grenade launcher. The Joint Service Combat
Shotgun is used for door breaching and close-quarters combat. Snipers use long range sniper rifle,
enhanced sniper rifle and semi-automatic sniper rifle. The army employs various crew-served weapons to
provide heavy firepower at ranges exceeding that of individual weapons. The Army uses three types
of mortar for indirect fire support when heavier artillery may not be appropriate or available.
Il. Answer the following questions:
1. What is Naval Infantry?
2. What are the basic types of aircraft carrier?
3. What is air support provided by?
4. What forms of trajectory are there?
111. Give English equivalents to:
[Tpy>xuHHMI TIOAaBa4, OCHOBHI MPUHIMUIHN CTPLICLBKOI MiJTOTOBKH, PiBHA MYIIKA, MOJIOKEHHS
JUIs CTPUIBOM, TMpaBHIbHE MOBOKECHHS 3 KYPKOM, BUBIPEHHS NPUIIUTY, BIy4aHHS B LiJb,
YTpyAHEHE AMXaHHS, NajJbHICTh, BEJCHHS BOTHIO Ha BEIUKHUX BIACTAaHAX, 00HOBI cTpiinbOU 1O
[JISIX, [0 PANTOBO 3’ SIBJSIFOTHCS HA CTPUIBOUII, HIYHHUNA MPUIILUT, TIOPSAOK CTPIIBOH, CTPLICIIBKI
Ooenpunacu, KepoBaHa pakeTa, JAETOHATOp, 3BUYaiiHa BUOyXOBa pe4YOBHUHA, OpoHEOIHHI
Ooemnpuracy, Tiib3a (MaTpoHHa), XOJOCTHI MaTpoH.
IV. Translate the sentences
1 .BunuiryBaui 3HUIYIOTh JIITAJIbHI aiapaTH MPOTUBHUKA B MOBITP1 y B3a€EMOJIT 3 yrpyHOBaHHIM
3€HITHHUX 3aC001B MPOTUTIOBITPSIHOT 00OPOHU
2.OCKITbKM Hapi3u MPOXOIATh MO CTIHKaX CTBOJIA TBUHTOMOMIOHO (B’IOThCS 3J1iBa Bropy
HaMpaBo), TO Kyls, Bpi3alounch y HUX, HaOyBae 00epTalbHOTO PyXy, MOPOX MPOJAOBKYE TOPITH,
IIPU LIbOMY 30UIbIIYETHCS KUIBKICTD Ia3iB Ta iX 00’ M.
3.Po3naneni razu Ta 4acTKHU HE3TOPIIOro MOpOXy, SKI BUTIKAIOTh 3 KaHalTy CTBOJA CIIOM 3a
KyJI€l0, I1J1 Yac MOCTPUIy pa3oM 3 MOBITPSIM YTBOPIOIOThH MOIYM’sl Ta yIapHYy XBHIIIO; OCTaHHS €
JOKEPEJIOM 3BYKY IiJ] 4ac MOCTPLIY.
4.Biiicbka HpOTUNOBITPSAHOT OOOPOHM BHUKOHYIOTH 3aBIAaHHS I10JI0 OXOPOHM JI€P’KaBHOTO
KOPJIOHY B TIOBITPSHOMY HIPOCTOPi, KOHTPONIO 3a JOTPUMAHHSM TOPSIKY BHUKOPUCTAHHS
MOBITPSTHOTO TIPOCTOPY Ta CIIOCTEPEKEHHS 32 palOHAMU MOYKJIMBUX CTAPTIB OATICTUYHHUX PaKeT
V. Put the verbs in brackets into the correct tense :
1.Procurement (to intend) for use against light calibre targets. 2. The M995 (to offer) the
capability to defeat these targets at ranges two to three times that of currently available 5.56-mm
ammunition. 3. The M995 cartridge (to consist of) a projectile and a propelling charge contained
in a brass cartridge case. 4. The projectile (to be) a dense metal penetrator enclosed by a standard
gilding metal jacket. 5. An aluminium cup (to sit) at the rear of the projectile. 6. The cartridge (to
utilize) a conventional brass case and double base propellant. 7. A standard rifle cartridge primer
(to be used) in the case to initiate the propelling charge.




